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Fibonacci

(n - 1).fib + (n - 2).fib

main : () -> () =
| () => 10.fib.println

F—5R BT

S(A) forall { A}

Even = 0 | S[odd]
0dd = S[Even]

: Even -> 164 =
0 =>20
S(S(n)) => 1 + n.div2

Cotton® 11— R4l

data E
data T {
value: A,
left: Tree[A],
right: Tree[A],
} forall { A}

type Tree = | A => E | T[A]

insert : Tree[I64] -> I64 -> Tree[I64] =
| E, x => T { value: x, left: E, right: E }

| T { value: v, left: 1, right: r }, x => (x < v /\ v < Xx).
| True /\ _ => T { value: v, left: l.insert(x), right: r }
| /\ True => T { value: v, left: 1, right: r.insert(x) }

| _ => T { value: v, left: 1, right: r }
contains : Treel[I64] -> I64 -> Bool =
| E, _ => False
| T { value: v, left: 1, right: r }, x => (x < v /\ v < x).
| True /\ _ => 1l.contains(x)
| _ /\ True => r.contains(x)
| _ => True

JRTI =Y: https://github.com/nanikamado/cotton
fBITECEE: https://zenn.dev/nanikamado/articles/e352e024a17b3f

Playground: https://gitpod.io/#https://github.com/nanikamado/cotton-playground



